
©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

YAMAHA MT-07 TRACER (2016)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 1/4

 
N° Descrizione Caratteristiche Codice Quantità

1
Paramotore - Engine Guard 
Pare-carter - Sturzbuegel

Defensa De Moto - Paramotor
- TNH2130DXV

TNH2130SXV 2 (Dx,Sx)

2 Supporto - Support - Support
Halterung - Soporte - Apoio - GL3268G 1

3 Supporto - Support - Support
Halterung - Soporte - Apoio - GL3269V 1

4
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TCEIS M12x90 1290TCEIS 2

5
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TES M10x120 10120TES 1

6
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TECF M8x20 820TECF 2

7
Vite - Screw 

Vis - Schraube
Tornillo - Parafuso

TBEIFF M6x16 616TBEIFF 2

8
Rondella - Washer
Rondelle - Scheibe 
Arandela - Arruela

- 10RON 2

9
Rondella - Washer
Rondelle - Scheibe 
Arandela - Arruela

- 8RON 1

10
Rondella - Washer
Rondelle - Scheibe 
Arandela - Arruela

- 618RONP 2

11 Distanziale - Spacer
Entretoise - Distanzstueck - Distanciador - V918 2

12 Distanziale - Spacer
Entretoise - Distanzstueck - Distanciador Ø30x50 Foro 12,5ALT C30L50F12,5ALT 2

13 Distanziale - Spacer
Entretoise - Distanzstueck - Distanciador Ø22x5 Foro 10,5T C22L5F10,5T 2

14 NIPLESS - V906 1

15 OR NIPLESS - - 2

16
Componenti Originali - Original Parts
Parties Originales - Original Bauteile

Componentes Originales - Componentes Originais
- - -

 



©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

YAMAHA MT-07 TRACER (2016)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 2/4

1

10 11

12 13 14 15

2 3

4 5 6 7 8 9

- Si raccomanda di fare eseguire il montaggio ad un meccanico qualificato
- We recommend fitting by a qualified mechanic

- Il est recommandé de faire le montage par un mécanicien qualifié
- Wir empfehlen, dass die Montage von einem Fachmechaniker durchgeführt wird

- Se recomienda realizar el montaje por un mecanico cualificado



©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

YAMAHA MT-07 TRACER (2016)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 3/4

A

B

16

2

1

3

8

5

6

8

9

RIGHT SIDE

LEFT SIDE

13

13



©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

YAMAHA MT-07 TRACER (2016)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 4/4

C

D

D

4

11

12

14

15

15
10

10

7

7




